## **Apartment in Marsa**



#### Marsa, South



€330,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): **132** 

Reference No: 240271058-27

Bedrooms: 3

### **Apartment - For Sale - Marsa**

MARSA - First floor, fully furnished APARTMENT situated in a small block of just 4 units located in a quiet street. Close to all amenities including park and ride and shopping centre. It is being sold freehold and includes the roof and airspace. Ready to move into.

#### **Features**

- Kitchen/Dinette
- Electricity Utility
- ✓ Balcony

- Water Utility
- Air Space
- Roof Terrace

#### Rooms

Kitchen/Living/Dining: 9.14 x 4.5 m (41.13 m2)

Double Bedroom : 2.92 x 4.66 m (13.61 m2)

Double Bedroom : 2.76 x 4.68 m (12.92 m2)

Double Bedroom: 3.65 x 6.26 m (22.85 m2)

Laundry: 5.22 x 3.68 m (19.21 m2)

✓ Hallway: 4.53 x 2.8 m (12.68 m2)

Bathroom: 2.14 x 2.38 m (5.09 m2)

Open Space : 5.53 x 0.91 m (5.03 m2)

# **Gallery**



























**Darren Mercieca** RE/MAX South - Marsascala

M: 77627503

E: darrenmercieca@remax.com.mt

T: 21555000

**RE/MAX South - Marsascala** 53,Triq is-Salini, Marsascala, Malta